(Bfiemm)

MAHTORE -

GREOBER. BEXBEEETE
El

14475 TERER
5] ICWEL T

1:40)

B4R &

BEMNLRERBENEETH SHO— 2T 9. z = RUF-V1615SAFFD(C) RUF-V1605SAFFD(C)
BE A B x ® 5 = ERERR (LB EREL)
- 31 ® ® = 5 = BB IR AR (BARHETILE 6120 X 480, T3 U)
B8 (R $EHED) BEAK| IRV % & = 700
—z = + i g K70 CR4A450)
450 KEET ArUIS) [EED 4 ]0.3kN/A&IE B 230
003 £ 4. 8x38 EE(LHBETHU) 2 (RT3 15mm) B 2 (kg 33GEAKES 2 34.5)
ARUAIS) g D S A BHEZIN— 0T AL D F RN
330 RCEBT s4.8%3 |00 4 P VAN ks pmg | B §6.5(40,000kcal/h)
540 ALCEBE| 71721 =7575X |gr( LamESY) (EEORRLE TR [ s 34.9(30,000kcal/h)
6x30 2LEe 2 e 3 3 11.6(10,000kcal/h)
200 7 % Z 168 : 807,52 : 177
\ 165 Ix V¥ - BENE 79.31
(AP OBRK) 128.5 % g (dB(A)) ©% - 55FE 50T
N O x (ppm) 125MF
11 72O B = B B 260CHT
R > T AR 57 UHARREE, SESRLEE SREHLES, FBRLER
+ AFiE =z £ #® & BEMGLEE, BEMLRERE, 77 Y EGREKE, REREKE
- o %?ﬂj 4}/ FRLLEE ACARBERGLEE FEERLSE ARTHEER
© ) . T 1 9 *= A X R A % RETBHE — 5 (190W)
o L) Oy S S B 51 RETH S 5 BRTHE 514> TO0EE
|~ /7370 G AN N o7 53 ) B [5A(R1/2) T U1
‘ <A§k\\\\; A A0 e 5 x T5ART/D) D0A(R3/H)
B Y 0 fle = 15A(RT/2) 20A(R3/4)
CR—oo— O &[5 3 & & T5A(GT/2B)
* /\/ 72 //> — == - ayi¢:3dn b—T 0 25 t—n—2J0-— 15A(R1/2)
SBEERD A—N—20—| 25 3 & 3 (AB-UEI E MBEIG)
33 REHD B3 " ACTO0V_50/60Hz A
N W B & A (D 158/177 (#&#2.0) (50/60H)
7= NEOC 3 | A K 4 £ B T-0A A rGEBE: v tiNo. 5.2Y 8.5/0.4)
ff E 2 ALtk
‘ - 5 BEVEIY, 8TV ETIY, BBEAN-
7! 7t on 3AERER, VEIVHF—TL, ST
470 230 10~503R88=] 180 BENE
3120 120 150 NELI - AIC) 27.9~4.4(16~2.55)
- i B B E B B 35, 37~48, 50, 60°C(158F)
0 280, glon ;ﬁ B B 37~ 48T (12856)
- — = 5.5X 21 &N | BB [RE-ELE 0~Be5M (6&ME) - 5 23T @I <J0L
@F%ggg%%wa ——_ o qﬁ =% § ¢=F 5| BEY [BRUAR KER
N % AL (8 58D 60~300L (2cnf). 3501, 400L,990L (1 6 FF)
= = y | REEHKE(/5) 2.7
= = ©BEAEIE(KPo) 50,000, 8kgf /om® J(TOL/4)
3 BUEEEAKN) 9.3(8,000kcal/h)
& & H L s HOCLR. REmz<ZUR\BEIRERECONEL
SEEHHE(/5) 4
JBUE = BEAB RUBERW (9 —325) ON/OFFAIE 3/~48C
N TR B R B4/88 (6.5/%H20) (5L/%) (50/60Hz)
ol o o N - ¥R 3ADETT. EEABABEDEDTERCEET 5 ENGUZET.
S 8 = = B33HLESHEN
% o e B UM
160L (1 AR 180L(1.5AR)| 210L (2AF)
= == PCORELCECHRE(ICLE) 01255 | $14sH | $16.5%
= = B3 25831 UES
% % an N=] N ===y /é\ /% }Sﬁ g B% FEﬁ
= = @ R AELTRE o (A | B0L01.5AR)] J10L (AR
5 15C 12T 135 Wik | %16H
(CHE) LRREEEL, KEKPOOEORMTY. REN R ANEMEBBLR AUFT
W] (ee ¥ o - BAEERTERES NIDO12
O — BLREES 5U
— 3 85 75 218 13A- 12A,1PG
= SHBEBADEDFELCEETSCLABUET,
—F O AREEFSHE
ﬁ s 108REE | ¢12.78% —
| s |KF |EEER| 20n10BLA | 200 ‘Mﬂ 4P IMNETIER el A WY N s
h 5 | EEER | 20pi08HGn | 20ni 0ol Ly <
&S - OmIx -OmX & = _
S | | g : ok RUE-V1B0SSAFFD(C)
e | 7.0mum | 7.004K = == RUF-V1615SAFFD(C)
=] A L i 4
U A Qs . i
] L E2) REREN onEBA 2881, . , ~ =t
terx 2019.09 |REN:10p4A A3 | U FABERINETT

102



